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Functional Test Results

  Nokia S60 SCM Sample Application Client
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2. Endpoints

Following endpoints are used to perform the functional testing. 

	Services Name
	Service Endpoints Location

	LoggingFacility
	http://ws-i.oracle.com/ws-i/supplychain/services/LoggingFacility

	Retailer
	http://ws-i.oracle.com/ws-i/supplychain/services/Retailer

	WarehouseA
	http://ws-i.oracle.com/ws-i/supplychain/services/WarehouseA

	WarehouseB
	http://ws-i.oracle.com/ws-i/supplychain/services/WarehouseB

	WarehouseC
	http://ws-i.oracle.com/ws-i/supplychain/services/WarehouseC

	ManufacturerA
	http://ws-i.oracle.com/ws-i/supplychain/services/ManufacturerA

	ManufacturerB
	http://ws-i.oracle.com/ws-i/supplychain/services/ManufacturerB

	ManufacturerC
	http://ws-i.oracle.com/ws-i/supplychain/services/ManufacturerC


3. Test Results 

	Test Case Result

	Total Test Cases 
	6

	Passed 
	6

	Failed
	0


4. Test Cases Short Descriptions

	Test Cases

	Test Case Number
	TC1

	Test Case ID
	NokiaTestCaseNo.1A

	Description

Submiting order for product No. 605001, quantity 250 

	Test Case Number
	TC2

	Test Case ID
	NokiaTestCaseNo.IA

	Description

Getting Log events of TC1

	Test Case Number
	TC3

	Test Case ID
	NokiaTestCaseNo.2A

	Description

Submitting order for product no 605001 and 605002 quantity  250 and 1

	Test Case Number
	TC4

	Test Case ID
	NokiaTestCaseNo.2ALog

	Description

Getting Log events of TC3

	Test Case Number
	TC5

	Test Case ID
	NokiaTestCase3A

	Description

Submiting order for products No. 605003, 605004 and 605008 quantities 8, 61 and 40

	Test Case Number
	TC6

	Test Case ID
	NokiaTestCase3A

	Description

Getting Log events of TC5

	Test Case Number
	TC7

	Test Case ID
	NokiaTestCaseNo.4A

	Description:

Submitting order for products No. 605009 and 605010 quantities 1 and 1

	Test Case Number
	TC8

	Test Case ID
	NokiaTestCaseNo.4A

	Description

Getting Log events of TC7



	Test Case Number
	TC9

	Test Case ID
	NokiaTestCaseNo.5A

	Description:

Submitting order for products No. 605001 20

	Test Case Number
	TC10

	Test Case ID
	NokiaTestCaseNo.5A

	Description:

Getting Log events of TC9

	Test Case Number
	TC11

	Test Case ID
	NokiaTestCase6A

	Description

Submitting order for products No. 605001, 605002, 605004 and 605007 quantities 41,21,46 and 41

	Test Case Number
	TC12

	Test Case ID
	NokiaTestCase6A

	Description

Getting Log events of TC11


5. Testing Details

This section provides the details of each test case along with the screen shots and log reports.

5.1 TC1

5.1.1 Log reports

Request 
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Response
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5.1.2 Screen shot 
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[image: image4.jpg]



[image: image5.jpg]Quantity:
0

0

Comment:

|
Price: !
|
|
insufficient stock |

Options Back





5.2 TC2

5.2.1 Log reports

Request
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Response
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5.2.2 Screen shots

Response from the LoggingFacility service
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5.3 TC3
5.3.1 Log reports


[image: image13.emf]C:\Documents and  Settings\sraza\Desktop\wsi\testcases_2and5\testcases_2and5\RequestTC2aNokia.txt
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5.3.2 Screen shots
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5.4 TC4
5.4.1 Log reports
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5.4.2 Screen shots
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5.5 TC5
5.5.1 Log reports 

Request 
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Response
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5.5.2 Screen Shots
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5.6 TC6
5.6.1 Log reports 

Request 
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Response
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5.6.2 Screen shot

Response from the LoggingFacility service
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5.7 TC7
5.7.1 
Log reports


Request 
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Response
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5.7.2 Screen Shot
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5.8 TC8
5.8.1 
Log report 


Request
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Response
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5.8.2 Screen shot

Response from the LoggingFacility service
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5.9 TC9

5.9.1 Log reports
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5.9.2 Screen shots
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5.10 TC10

5.10.1 Log reports
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5.10.2 Screen shots
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5.11 TC11
5.11.1 Log reports of TC11
Request 
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5.11.2 Screen Shot

Creating product order to submit

	1

[image: image56.jpg]A = 2123 0

TV Brand 2:
TV Brand 3
0
Video Brand 1
46

\lidnn Drand 2

0k Cancel




	2

[image: image57.jpg]605007 |
605004
605001
605002

Options




	3

[image: image58.jpg]Quantity:
41

Price:

4100

Comment:
in stock from Wa...

Options Back





	4

[image: image59.jpg]Quantity:
46

Price:

9154

Comment:
in stock from Wa...

Options Back




	5

[image: image60.jpg]Quantity:
41

Price:

|
\
12259 \
|
|

C_omment:
in stock from Wa...

Options Back




	6

[image: image61.jpg]Quantity:

Price:

0

Comment:
insufficient stock |

Options Back






5.12 TC12
5.12.1 Log report


Request
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5.12.2 Screen shot
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_1197894002/Request_tc3a_nokia.txt
POST http://ws-i.oracle.com/ws-i/supplychain/services/Retailer HTTP/1.1

Host: ws-i.oracle.com

Accept: text/xml

User-Agent: Sen

Content-Length: 2749

Content-Type: text/xml; charset=UTF-8

SOAPAction: ""



<S:Envelope xmlns:S="http://schemas.xmlsoap.org/soap/envelope/">

	<S:Header>

		<ns0:Configuration xmlns:ns0="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/Configuration.xsd">

			<ns0:UserId>NokiaTestCase3A</ns0:UserId>

			<ns0:ServiceUrl Role="LoggingFacility">http://ws-i.oracle.com/ws-i/supplychain/services/LoggingFacility</ns0:ServiceUrl>

			<ns0:ServiceUrl Role="Retailer">http://ws-i.oracle.com/ws-i/supplychain/services/Retailer</ns0:ServiceUrl>

			<ns0:ServiceUrl Role="WarehouseA">http://ws-i.oracle.com/ws-i/supplychain/services/WarehouseA</ns0:ServiceUrl>

			<ns0:ServiceUrl Role="WarehouseB">http://ws-i.oracle.com/ws-i/supplychain/services/WarehouseB</ns0:ServiceUrl>

			<ns0:ServiceUrl Role="WarehouseC">http://ws-i.oracle.com/ws-i/supplychain/services/WarehouseC</ns0:ServiceUrl>

			<ns0:ServiceUrl Role="ManufacturerA">http://ws-i.oracle.com/ws-i/supplychain/services/ManufacturerA</ns0:ServiceUrl>

			<ns0:ServiceUrl Role="ManufacturerB">http://ws-i.oracle.com/ws-i/supplychain/services/ManufacturerB</ns0:ServiceUrl>

			<ns0:ServiceUrl Role="ManufacturerC">http://ws-i.oracle.com/ws-i/supplychain/services/ManufacturerC</ns0:ServiceUrl>

		</ns0:Configuration>

	</S:Header>

	<S:Body>

		<ns1:submitOrder xmlns:ns1="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/Retailer.wsdl">

			<PartsOrder>

				<Item xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">

					<productNumber>605003</productNumber>

					<quantity>8</quantity>

					<price>5725</price>

				</Item>

				<Item xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">

					<productNumber>605004</productNumber>

					<quantity>61</quantity>

					<price>199</price>

				</Item>

				<Item xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">

					<productNumber>605008</productNumber>

					<quantity>40</quantity>

					<price>200</price>

				</Item>

			</PartsOrder>

			<CustomerDetails>

				<custnbr xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">NOKIATestUser</custnbr>

				<name xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Joe</name>

				<street1 xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Valimo</street1>

				<city xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Helsinki</city>

				<state xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Helsinki</state>

				<zip xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">00380</zip>

				<country xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Finland</country>

			</CustomerDetails>

		</ns1:submitOrder>

	</S:Body>

</S:Envelope>




_1197895452/ResponseTC2ALogNokia.txt
POST http://wsi.alphaworks.ibm.com/LoggingFacility/services/LoggingFacility HTTP/1.1


Host: wsi.alphaworks.ibm.com


Accept: text/xml


User-Agent: Sen


Content-Length: 293


Content-Type: text/xml; charset=UTF-8


SOAPAction: ""







<S:Envelope xmlns:S="http://schemas.xmlsoap.org/soap/envelope/"><S:Body><m:getEventsRequestElement xmlns:m="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/LoggingFacility.xsd"><m:DemoUserID>NokiaConformance</m:DemoUserID></m:getEventsRequestElement></S:Body></S:Envelope>

HTTP/1.1 200 OK


Transfer-Encoding: chunked


Date: Tue, 03 Jan 2006 21:12:51 GMT


Content-Type: text/xml; charset=utf-8


Server: IBM_HTTP_Server/6.0.2 Apache/2.0.47 (Win32)


Content-Language: en-US


Via: 1.1 esprx02 (NetCache NetApp/5.6.2R1)





2000


<?xml version="1.0" encoding="UTF-8"?>

<soapenv:Envelope xmlns:soapenv="http://schemas.xmlsoap.org/soap/envelope/" xmlns:xsd="http://www.w3.org/2001/XMLSchema" xmlns:xsi="http://www.w3.org/2001/XMLSchema-instance">

 <soapenv:Body>

  <getEventsResponseElement xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/LoggingFacility.xsd">

   <LogEntry>

    <Timestamp>2005-12-19T14:17:12.953Z</Timestamp>

    <ServiceID>Retailer.submitOrder</ServiceID>

    <EventID>UC1-5</EventID>

    <EventDescription>Order placed by NOKIAIOPTestUser for 605001</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T14:17:14.781Z</Timestamp>

    <ServiceID>WarehouseA.ShipGoods</ServiceID>

    <EventID>UC2-2-1</EventID>

    <EventDescription>Wareho

useA will determine its ability to ship product(s) 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T14:17:14.938Z</Timestamp>

    <ServiceID>WarehouseA.ShipGoods</ServiceID>

    <EventID>UC2-2-2</EventID>

    <EventDescription>WarehouseA is able to ship 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T14:17:15.141Z</Timestamp>

    <ServiceID>Retailer.submi

tOrder</ServiceID>

    <EventID>UC1-9</EventID>

    <EventDescription>Processing of the order from NOKIAIOPTestUser has finished normally</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:06:41.875Z</Timestamp>

    <ServiceID>Retailer.submitOrder</ServiceID>

    <EventID>UC1-5</EventID>

    <EventDescription>Order placed by NOKIAIOPTestUser for 605001, 605002</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:06:42.219Z</Timestamp>

    <ServiceID>WarehouseA.ShipGoods</ServiceID>

    <EventID>UC2-2-1</EventID>

    <EventDescription>WarehouseA will determine its ability to ship product(s) 605001, 605002.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:06:42.422Z</Timestamp>

    <ServiceID>WarehouseA.ShipGoods</ServiceID>

    <EventID>UC2-2-2</EventID>

    <EventDescription>WarehouseA is able to ship 605002 and is unable to ship 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:06:43.609Z</Timesta

mp>

    <ServiceID>WarehouseB.ShipGoods</ServiceID>

    <EventID>UC2-2-1</EventID>

    <EventDescription>WarehouseB will determine its ability to ship product(s) 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:06:43.609Z</Timestamp>

    <ServiceID>WarehouseB.ShipGoods</ServiceID>

    <EventID>UC2-2-2</EventID>

    <EventDescription>WarehouseB is able to ship no items and is unable to 

ship 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:06:43.828Z</Timestamp>

    <ServiceID>WarehouseC.ShipGoods</ServiceID>

    <EventID>UC2-2-1</EventID>

    <EventDescription>WarehouseC will determine its ability to ship product(s) 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:06:43.953Z</Timestamp>

    <ServiceID>WarehouseC.ShipGoods</ServiceID>

    <EventID>UC2-2-2</EventID>

    <EventDescription>WarehouseC is able to ship no items and is unable to ship 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:06:43.984Z</Timestamp>

    <ServiceID>Retailer.submitOrder</ServiceID>

    <EventID>UC1-9</EventID>

    <EventDescription>Processing of the order from NOKIAIOPTestUser has finished normally</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:17:50.188Z</Timestamp>

    <ServiceID>Retailer.submitOrder</ServiceID>

    <EventID>UC1-5</EventID>

    <EventDescription>Order placed

 by NOKIAIOPTestUser for 605001</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:17:51.047Z</Timestamp>

    <ServiceID>WarehouseA.ShipGoods</ServiceID>

    <EventID>UC2-2-1</EventID>

    <EventDescription>WarehouseA will determine its ability to ship product(s) 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:17:51.188Z</Timestamp>

    <ServiceID>WarehouseA.

ShipGoods</ServiceID>

    <EventID>UC2-2-2</EventID>

    <EventDescription>WarehouseA is able to ship no items and is unable to ship 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:17:51.469Z</Timestamp>

    <ServiceID>WarehouseB.ShipGoods</ServiceID>

    <EventID>UC2-2-1</EventID>

    <EventDescription>WarehouseB will determine its ability to ship product(s) 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:17:51.625Z</Timestamp>

    <ServiceID>WarehouseB.ShipGoods</ServiceID>

    <EventID>UC2-2-2</EventID>

    <EventDescription>WarehouseB is able to ship 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:17:51.750Z</Timestamp>

    <ServiceID>Retailer.submitOrder</ServiceID>

    <EventID>UC1-9</EventID>

    <EventDescription>Processing of the order from NOKIAIOPTestUser has finished normally</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:20:17.516Z</Timestamp>

    <ServiceID

>Retailer.submitOrder</ServiceID>

    <EventID>UC1-5</EventID>

    <EventDescription>Order placed by NOKIAIOPTestUser for 605001</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:20:18.062Z</Timestamp>

    <ServiceID>WarehouseA.ShipGoods</ServiceID>

    <EventID>UC2-2-1</EventID>

    <EventDescription>WarehouseA will determine its ability to ship product(s) 605001.</EventDescription>

   </LogEn

try>

   <LogEntry>

    <Timestamp>2005-12-19T15:20:18.172Z</Timestamp>

    <ServiceID>WarehouseA.ShipGoods</ServiceID>

    <EventID>UC2-2-2</EventID>

    <EventDescription>WarehouseA is able to ship no items and is unable to ship 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:20:19.516Z</Timestamp>

    <ServiceID>WarehouseB.ShipGoods</ServiceID>

    <EventID>UC2-2-1</EventID>

    <EventDescription>WarehouseB will determine its ability to ship product(s) 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:20:19.688Z</Timestamp>

    <ServiceID>WarehouseB.ShipGoods</ServiceID>

    <EventID>UC2-2-2</EventID>

    <EventDescription>WarehouseB is able to ship 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:20:19.797Z</Timestamp>

    <ServiceID>Retailer.submitOrder</ServiceID>

    <EventID>UC1-9</EventID>

    <EventDescription>Processing of the order from NOKIAIOPTestUser has finished normally</EventDescription

>

   </LogEntry>

   <Log

Entry>

    <Timestamp>2006-01-03T21:10:59.516Z</Timestamp>

    <ServiceID>Retailer.submitOrder</ServiceID>

    <EventID>UC1-5</EventID>

    <EventDescription>Order placed by NOKIAIOPTestUser for 605001, 605002</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2006-01-03T21:10:59.781Z</Timestamp>

    <ServiceID>WarehouseA.ShipGoods</ServiceID>

    <EventID>UC2-2-1</EventID>

    <EventDescription>WarehouseA will determine its ability to ship product(s) 605001, 605002.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2006-01-03T21:10:59.891Z</Timestamp>

    <ServiceID>WarehouseA.ShipGoods</ServiceID>

    <EventID>UC2-2-2</EventID>

    <EventDescription>WarehouseA is able to ship 605002 and is unable to ship 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2006-01-03T21:11:00.172Z</Timestamp>

    <ServiceID>WarehouseB.ShipGoods</ServiceID>

    <EventID>UC2-2-1</EventID>

    <EventDescription>WarehouseB will determine its ability to ship product(s) 605001.</EventDes

cription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2006-01-03T21:11:00.250Z</Timestamp>

    <ServiceID>WarehouseB.ShipGoods</ServiceID>

    <EventID>UC2-2-2</EventID>

    <EventDescription>WarehouseB is able to ship no items and is unable to ship 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2006-01-03T21:11:00.531Z</Timestamp>

    <ServiceID>WarehouseC.ShipGoods</ServiceID>

    <EventID>UC2-2

-1</EventID>

    <EventDescription>WarehouseC will determine its ability to ship product(s) 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Ti
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mestamp>2006-01-03T21:11:00.625Z</Timestamp>

    <ServiceID>WarehouseC.ShipGoods</ServiceID>

    <EventID>UC2-2-2</EventID>

    <EventDescription>WarehouseC is able to ship no items and is unable to ship 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2006-01-03T21:11:00.734Z</Timestamp>

    <ServiceID>Retailer.submitOrder</ServiceID>

    <EventID>UC1-9</EventID>

    <EventDescription>Processing of the order from NOKIAIOPTestUser has finished normally</EventDescription>

   </LogEntry>

  </getEventsResponseElement>

 </soapenv:Body>

</soapenv:Envelope>


0










_1197895710/ResponseTC5ANokia.txt
POST http://wsi.alphaworks.ibm.com/Retailer/services/Retailer HTTP/1.1


Host: wsi.alphaworks.ibm.com


Accept: text/xml


User-Agent: Sen


Content-Length: 2397


Content-Type: text/xml; charset=UTF-8


SOAPAction: ""







<S:Envelope xmlns:S="http://schemas.xmlsoap.org/soap/envelope/"><S:Header><ns0:Configuration xmlns:ns0="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/Configuration.xsd"><ns0:UserId>NokiaConformance</ns0:UserId><ns0:ServiceUrl Role="LoggingFacility">http://wsi.alphaworks.ibm.com/LoggingFacility/services/LoggingFacility</ns0:ServiceUrl><ns0:ServiceUrl Role="Retailer">http://wsi.alphaworks.ibm.com/Retailer/services/Retailer</ns0:ServiceUrl><ns0:ServiceUrl Role="WarehouseA">http://wsi.alphaworks.ibm.com/Warehouse/services/Warehouse</ns0:ServiceUrl><ns0:ServiceUrl Role="WarehouseB">http://wsi.alphaworks.ibm.com/Warehouse/services/WarehouseB</ns0:ServiceUrl><ns0:ServiceUrl Role="WarehouseC">http://wsi.alphaworks.ibm.com/Warehouse/services/WarehouseC</ns0:ServiceUrl><ns0:ServiceUrl Role="ManufacturerA">http://wsi.alphaworks.ibm.com/Manufacturer/services/Manufacturer</ns0:ServiceUrl><ns0:ServiceUrl Role="ManufacturerB">http://wsi.alphaworks.ibm.com/Manufacturer/services/ManufacturerB</ns0:Servi

ceUrl><ns0:ServiceUrl Role="ManufacturerC">http://wsi.alphaworks.ibm.com/Manufacturer/services/ManufacturerC</ns0:ServiceUrl></ns0:Configuration></S:Header><S:Body><ns1:submitOrder xmlns:ns1="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/Retailer.wsdl"><PartsOrder><Item xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd"><productNumber>605001</productNumber>

<quantity>20</quantity><price>299</price></Item></PartsOrder><CustomerDetails><custnbr xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">NOKIAIOPTestUser</custnbr><name xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Joe</name><street1 xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Valimo</street1><city xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Helsinki</city><state xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Helsinki</state><zip xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">00380</zip><country xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Finland</country></CustomerDetails></ns1:submitOrder></S:Body></S:Envelope>

HTTP/1.1 200 OK


Transfer-Encoding: chunked


Date: Tue, 03 Jan 2006 21:25:06 GMT


Content-Type: text/xml; charset=utf-8


Server: IBM_HTTP_Server/6.0.2 Apache/2.0.47 (Win32)


Content-Language: en-US


Via: 1.1 esprx02 (NetCache NetApp/5.6.2R1)





2ef


<?xml version="1.0" encoding="UTF-8"?>

<soapenv:Envelope xmlns:soapenv="http://schemas.xmlsoap.org/soap/envelope/" xmlns:xsd="http://www.w3.org/2001/XMLSchema" xmlns:xsi="http://www.w3.org/2001/XMLSchema-instance">

 <soapenv:Body>

  <submitOrderResponse xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/Retailer.wsdl">

   <return xmlns="">

    <ns1:Item xmlns:ns1="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">

     <ns1:productNumber>605001</ns1:productNumber>

     <ns1:quantity>20</ns1:quantity>

     <ns1:price>5999.00</ns1:price>

     <ns1:comment>in stock from Warehouse B</ns1:comment>

    </ns1:Item>

   </return>

  </submitOrderResponse>

 </soapenv:Body>

</soapenv:Envelope>




0










_1197895831/RequestTC5alogNokia.txt
<S:Envelope xmlns:S="http://schemas.xmlsoap.org/soap/envelope/"><S:Body><m:getEventsRequestElement xmlns:m="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/LoggingFacility.xsd"><m:DemoUserID>NokiaConformance</m:DemoUserID></m:getEventsRequestElement></S:Body></S:Envelope>




_1197895897/ResponseTC5alogNokia.txt
POST http://wsi.alphaworks.ibm.com/LoggingFacility/services/LoggingFacility HTTP/1.1


Host: wsi.alphaworks.ibm.com


Accept: text/xml


User-Agent: Sen


Content-Length: 293


Content-Type: text/xml; charset=UTF-8


SOAPAction: ""







<S:Envelope xmlns:S="http://schemas.xmlsoap.org/soap/envelope/"><S:Body><m:getEventsRequestElement xmlns:m="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/LoggingFacility.xsd"><m:DemoUserID>NokiaConformance</m:DemoUserID></m:getEventsRequestElement></S:Body></S:Envelope>

HTTP/1.1 200 OK


Transfer-Encoding: chunked


Date: Tue, 03 Jan 2006 21:25:16 GMT


Content-Type: text/xml; charset=utf-8


Server: IBM_HTTP_Server/6.0.2 Apache/2.0.47 (Win32)


Content-Language: en-US


Via: 1.1 esprx02 (NetCache NetApp/5.6.2R1)





2000


<?xml version="1.0" encoding="UTF-8"?>

<soapenv:Envelope xmlns:soapenv="http://schemas.xmlsoap.org/soap/envelope/" xmlns:xsd="http://www.w3.org/2001/XMLSchema" xmlns:xsi="http://www.w3.org/2001/XMLSchema-instance">

 <soapenv:Body>

  <getEventsResponseElement xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/LoggingFacility.xsd">

   <LogEntry>

    <Timestamp>2005-12-19T14:17:12.953Z</Timestamp>

    <ServiceID>Retailer.submitOrder</ServiceID>

    <EventID>UC1-5</EventID>

    <EventDescription>Order placed by NOKIAIOPTestUser for 605001</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T14:17:14.781Z</Timestamp>

    <ServiceID>WarehouseA.ShipGoods</ServiceID>

    <EventID>UC2-2-1</EventID>

    <EventDescription>Wareho

useA will determine its ability to ship product(s) 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T14:17:14.938Z</Timestamp>

    <ServiceID>WarehouseA.ShipGoods</ServiceID>

    <EventID>UC2-2-2</EventID>

    <EventDescription>WarehouseA is able to ship 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T14:17:15.141Z</Timestamp>

    <ServiceID>Retailer.submi

tOrder</ServiceID>

    <EventID>UC1-9</EventID>

    <EventDescription>Processing of the order from NOKIAIOPTestUser has finished normally</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:06:41.875Z</Timestamp>

    <ServiceID>Retailer.submitOrder</ServiceID>

    <EventID>UC1-5</EventID>

    <EventDescription>Order placed by NOKIAIOPTestUser for 605001, 605002</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:06:42.219Z</Timestamp>

    <ServiceID>WarehouseA.ShipGoods</ServiceID>

    <EventID>UC2-2-1</EventID>

    <EventDescription>WarehouseA will determine its ability to ship product(s) 605001, 605002.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:06:42.422Z</Timestamp>

    <ServiceID>WarehouseA.ShipGoods</ServiceID>

    <EventID>UC2-2-2</EventID>

    <EventDescription>WarehouseA is able to ship 605002 and is unable to ship 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:06:43.609Z</Timesta

mp>

    <ServiceID>WarehouseB.ShipGoods</ServiceID>

    <EventID>UC2-2-1</EventID>

    <EventDescription>WarehouseB will determine its ability to ship product(s) 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:06:43.609Z</Timestamp>

    <ServiceID>WarehouseB.ShipGoods</ServiceID>

    <EventID>UC2-2-2</EventID>

    <EventDescription>WarehouseB is able to ship no items and is unable to 

ship 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:06:43.828Z</Timestamp>

    <ServiceID>WarehouseC.ShipGoods</ServiceID>

    <EventID>UC2-2-1</EventID>

    <EventDescription>WarehouseC will determine its ability to ship product(s) 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:06:43.953Z</Timestamp>

    <ServiceID>WarehouseC.ShipGoods</ServiceID>

    <EventID>UC2-2-2</EventID>

    <EventDescription>WarehouseC is able to ship no items and is unable to ship 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:06:43.984Z</Timestamp>

    <ServiceID>Retailer.submitOrder</ServiceID>

    <EventID>UC1-9</EventID>

    <EventDescription>Processing of the order from NOKIAIOPTestUser has finished normally</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:17:50.188Z</Timestamp>

    <ServiceID>Retailer.submitOrder</ServiceID>

    <EventID>UC1-5</EventID>

    <EventDescription>Order placed

 by NOKIAIOPTestUser for 605001</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:17:51.047Z</Timestamp>

    <ServiceID>WarehouseA.ShipGoods</ServiceID>

    <EventID>UC2-2-1</EventID>

    <EventDescription>WarehouseA will determine its ability to ship product(s) 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:17:51.188Z</Timestamp>

    <ServiceID>WarehouseA.

ShipGoods</ServiceID>

    <EventID>UC2-2-2</EventID>

    <EventDescription>WarehouseA is able to ship no items and is unable to ship 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:17:51.469Z</Timestamp>

    <ServiceID>WarehouseB.ShipGoods</ServiceID>

    <EventID>UC2-2-1</EventID>

    <EventDescription>WarehouseB will determine its ability to ship product(s) 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:17:51.625Z</Timestamp>

    <ServiceID>WarehouseB.ShipGoods</ServiceID>

    <EventID>UC2-2-2</EventID>

    <EventDescription>WarehouseB is able to ship 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:17:51.750Z</Timestamp>

    <ServiceID>Retailer.submitOrder</ServiceID>

    <EventID>UC1-9</EventID>

    <EventDescription>Processing of the order from NOKIAIOPTestUser has finished normally</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:20:17.516Z</Timestamp>

    <ServiceID

>Retailer.submitOrder</ServiceID>

    <EventID>UC1-5</EventID>

    <EventDescription>Order placed by NOKIAIOPTestUser for 605001</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:20:18.062Z</Timestamp>

    <ServiceID>WarehouseA.ShipGoods</ServiceID>

    <EventID>UC2-2-1</EventID>

    <EventDescription>WarehouseA will determine its ability to ship product(s) 605001.</EventDescription>

   </LogEn

try>

   <LogEntry>

    <Timestamp>2005-12-19T15:20:18.172Z</Timestamp>

    <ServiceID>WarehouseA.ShipGoods</ServiceID>

    <EventID>UC2-2-2</EventID>

    <EventDescription>WarehouseA is able to ship no items and is unable to ship 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:20:19.516Z</Timestamp>

    <ServiceID>WarehouseB.ShipGoods</ServiceID>

    <EventID>UC2-2-1</EventID>

    <EventDescription>WarehouseB will determine its ability to ship product(s) 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:20:19.688Z</Timestamp>

    <ServiceID>WarehouseB.ShipGoods</ServiceID>

    <EventID>UC2-2-2</EventID>

    <EventDescription>WarehouseB is able to ship 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2005-12-19T15:20:19.797Z</Timestamp>

    <ServiceID>Retailer.submitOrder</ServiceID>

    <EventID>UC1-9</EventID>

    <EventDescription>Processing of the order from NOKIAIOPTestUser has finished normally</EventDescription

>

   </LogEntry>

   <LogEntry>

    <Timestamp>2006-01-03T21:10:59.516Z</Timestamp>

    <ServiceID>Retailer.submitOrder</ServiceID>

    <EventID>UC1-5</EventID>

    <EventDescription>Order placed by NOKIAIOPTestUser for 605001, 605002</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2006-01-03T21:10:59.781Z</Timestamp>

    <ServiceID>WarehouseA.ShipGoods</ServiceID>

    <EventID>UC2-2-1</EventID>

    <EventD

escription>WarehouseA will determine its ability to ship product(s) 605001, 605002.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2006-01-03T21:10:59.891Z</Timestamp>

    <ServiceID>WarehouseA.ShipGoods</ServiceID>

    <EventID>UC2-2-2</EventID>

    <EventDescription>WarehouseA is able to ship 605002 and is unable to ship 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2006-01-03T21:11:00.172Z</Timestamp>

    <ServiceID>WarehouseB.ShipGoods</ServiceID>

    <EventID>UC2-2-1</EventID>

    <EventDescription>WarehouseB will determine its ability to ship product(s) 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2006-01-03T21:11:00.250Z</Timestamp>

    <ServiceID>WarehouseB.ShipGoods</ServiceID>

    <EventID>UC2-2-2</EventID>

    <EventDescription>WarehouseB is able to ship no items and is unable to ship 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2006-01-03T21:11:00.531Z</Timestamp>

    <ServiceID>WarehouseC.ShipGoods</Servi

ceID>

    <EventID>UC2-2-1</EventID>

    <EventDescription>WarehouseC will determine its ability to ship product(s) 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Ti
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mestamp>2006-01-03T21:11:00.625Z</Timestamp>

    <ServiceID>WarehouseC.ShipGoods</ServiceID>

    <EventID>UC2-2-2</EventID>

    <EventDescription>WarehouseC is able to ship no items and is unable to ship 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2006-01-03T21:11:00.734Z</Timestamp>

    <ServiceID>Retailer.submitOrder</ServiceID>

    <EventID>UC1-9</EventID>

    <EventDescription>Processing of the order from NOKIAIOPTestUser has finished normally</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2006-01-03T21:21:01.438Z</Timestamp>

    <ServiceID>Retailer.submitOrder</ServiceID>

    <EventID>UC1-5</EventID>

    <EventDescription>Order placed by NOKIAIOPTestUser for 605001</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2006-01-03T21:21:01.938Z</Timestamp>

    <ServiceID>WarehouseA.ShipGoods</ServiceID>

    <EventID>UC2-2-1</EventID>

    <EventDescription>WarehouseA will determine its ability to ship product(s) 605001.</EventDescription>

   </LogEntr

y>

   <LogEntry>

    <Timestamp>2006-01-03T21:21:02.000Z</Timestamp>

    <ServiceID>WarehouseA.ShipGoods</ServiceID>

    <EventID>UC2-2-2</EventID>

    <EventDescription>WarehouseA is able to ship no items and is unable to ship 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2006-01-03T21:21:02.297Z</Timestamp>

    <ServiceID>WarehouseB.ShipGoods</ServiceID>

    <EventID>UC2-2-1</EventID>

    <Even

tDescription>WarehouseB will determine its ability to ship product(s) 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2006-01-03T21:21:02.438Z</Timestamp>

    <ServiceID>WarehouseB.ShipGoods</ServiceID>

    <EventID>UC2-2-2</EventID>

    <EventDescription>WarehouseB is able to ship 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2006-01-03T21:21:02.578Z</Timestamp>

    <ServiceID>Retailer.submitOrder</ServiceID>

    <EventID>UC1-9</EventID>

    <EventDescription>Processing of the order from NOKIAIOPTestUser has finished normally</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2006-01-03T21:25:07.625Z</Timestamp>

    <ServiceID>Retailer.submitOrder</ServiceID>

    <EventID>UC1-5</EventID>

    <EventDescription>Order placed by NOKIAIOPTestUser for 605001</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2006-01-03T21:25:07.891Z</Timestamp>

    <ServiceID>WarehouseA.ShipGoods</ServiceID>

    <EventID>UC2-2-1</EventID>

    <EventDescription

>WarehouseA will determine its ability to ship product(s) 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2006-01-03T21:25:08.047Z</Timestamp>

    <ServiceID>WarehouseA.ShipGoods</ServiceID>

    <EventID>UC2-2-2</EventID>

    <EventDescription>WarehouseA is able to ship no items and is unable to ship 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2006-01-03T21:25:08.359Z</Ti

mestamp>

    <ServiceID>WarehouseB.ShipGoods</ServiceID>

    <EventID>UC2-2-1</EventID>

    <EventDescription>WarehouseB will determine its ability to ship product(s) 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2006-01-03T21:25:08.469Z</Timestamp>

    <ServiceID>WarehouseB.ShipGoods</ServiceID>

    <EventID>UC2-2-2</EventID>

    <EventDescription>WarehouseB is able to ship 605001.</EventDescription>

   </LogEntry>

   <LogEntry>

    <Timestamp>2006-01-03T21:25:08.562Z</Timestamp>

    <ServiceID>Retailer.submitOrder</ServiceID>

    <EventID>UC1-9</EventID>

    <EventDescription>Processing of the order from NOKIAIOPTestUser has finished normally</EventDescription>

   </LogEntry>

  </getEventsResponseElement>

 </soapenv:Body>

</soapenv:Envelope>


0










_1197895682/RequestTC5aNokia.txt
<S:Envelope xmlns:S="http://schemas.xmlsoap.org/soap/envelope/"><S:Header><ns0:Configuration xmlns:ns0="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/Configuration.xsd"><ns0:UserId>NokiaConformance</ns0:UserId><ns0:ServiceUrl Role="LoggingFacility">http://wsi.alphaworks.ibm.com/LoggingFacility/services/LoggingFacility</ns0:ServiceUrl><ns0:ServiceUrl Role="Retailer">http://wsi.alphaworks.ibm.com/Retailer/services/Retailer</ns0:ServiceUrl><ns0:ServiceUrl Role="WarehouseA">http://wsi.alphaworks.ibm.com/Warehouse/services/Warehouse</ns0:ServiceUrl><ns0:ServiceUrl Role="WarehouseB">http://wsi.alphaworks.ibm.com/Warehouse/services/WarehouseB</ns0:ServiceUrl><ns0:ServiceUrl Role="WarehouseC">http://wsi.alphaworks.ibm.com/Warehouse/services/WarehouseC</ns0:ServiceUrl><ns0:ServiceUrl Role="ManufacturerA">http://wsi.alphaworks.ibm.com/Manufacturer/services/Manufacturer</ns0:ServiceUrl><ns0:ServiceUrl Role="ManufacturerB">http://wsi.alphaworks.ibm.com/Manufacturer/services/ManufacturerB</ns0:Servi

ceUrl><ns0:ServiceUrl Role="ManufacturerC">http://wsi.alphaworks.ibm.com/Manufacturer/services/ManufacturerC</ns0:ServiceUrl></ns0:Configuration></S:Header><S:Body><ns1:submitOrder xmlns:ns1="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/Retailer.wsdl"><PartsOrder><Item xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd"><productNumber>605001</productNumber>

<quantity>20</quantity><price>299</price></Item></PartsOrder><CustomerDetails><custnbr xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">NOKIAIOPTestUser</custnbr><name xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Joe</name><street1 xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Valimo</street1><city xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Helsinki</city><state xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Helsinki</state><zip xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">00380</zip><country xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Finland</country></CustomerDetails></ns1:submitOrder></S:Body></S:Envelope>




_1197895167/ResponseTC2ANokia.txt
POST http://wsi.alphaworks.ibm.com/Retailer/services/Retailer HTTP/1.1


Host: wsi.alphaworks.ibm.com


Accept: text/xml


User-Agent: Sen


Content-Length: 2582


Content-Type: text/xml; charset=UTF-8


SOAPAction: ""







<S:Envelope xmlns:S="http://schemas.xmlsoap.org/soap/envelope/"><S:Header><ns0:Configuration xmlns:ns0="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/Configuration.xsd"><ns0:UserId>NokiaConformance</ns0:UserId><ns0:ServiceUrl Role="LoggingFacility">http://wsi.alphaworks.ibm.com/LoggingFacility/services/LoggingFacility</ns0:ServiceUrl><ns0:ServiceUrl Role="Retailer">http://wsi.alphaworks.ibm.com/Retailer/services/Retailer</ns0:ServiceUrl><ns0:ServiceUrl Role="WarehouseA">http://wsi.alphaworks.ibm.com/Warehouse/services/Warehouse</ns0:ServiceUrl><ns0:ServiceUrl Role="WarehouseB">http://wsi.alphaworks.ibm.com/Warehouse/services/WarehouseB</ns0:ServiceUrl><ns0:ServiceUrl Role="WarehouseC">http://wsi.alphaworks.ibm.com/Warehouse/services/WarehouseC</ns0:ServiceUrl><ns0:ServiceUrl Role="ManufacturerA">http://wsi.alphaworks.ibm.com/Manufacturer/services/Manufacturer</ns0:ServiceUrl><ns0:ServiceUrl Role="ManufacturerB">http://wsi.alphaworks.ibm.com/Manufacturer/services/ManufacturerB</ns0:Servi

ceUrl><ns0:ServiceUrl Role="ManufacturerC">http://wsi.alphaworks.ibm.com/Manufacturer/services/ManufacturerC</ns0:ServiceUrl></ns0:Configuration></S:Header><S:Body><ns1:submitOrder xmlns:ns1="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/Retailer.wsdl"><PartsOrder><Item xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd"><productNumber>605001</productNumber>

<quantity>250</quantity><price>299</price></Item><Item xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd"><productNumber>605002</productNumber><quantity>1</quantity><price>1499</price></Item></PartsOrder><CustomerDetails><custnbr xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">NOKIAIOPTestUser</custnbr><name xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Joe</name><street1 xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Valimo</street1><city xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Helsinki</city><state xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Helsinki</state><zip xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">00380</zip><country xmlns="http://www.ws-i.org/SampleApplications/SupplyChainM

anagement/2002-08/RetailOrder.xsd">Finland</country></CustomerDetails></ns1:submitOrder></S:Body></S:Envelope>

HTTP/1.1 200 OK


Transfer-Encoding: chunked


Date: Tue, 03 Jan 2006 21:10:58 GMT


Content-Type: text/xml; charset=utf-8


Server: IBM_HTTP_Server/6.0.2 Apache/2.0.47 (Win32)


Content-Language: en-US


Via: 1.1 esprx02 (NetCache NetApp/5.6.2R1)
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<?xml version="1.0" encoding="UTF-8"?>

<soapenv:Envelope xmlns:soapenv="http://schemas.xmlsoap.org/soap/envelope/" xmlns:xsd="http://www.w3.org/2001/XMLSchema" xmlns:xsi="http://www.w3.org/2001/XMLSchema-instance">

 <soapenv:Body>

  <submitOrderResponse xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/Retailer.wsdl">

   <return xmlns="">

    <ns1:Item xmlns:ns1="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">

     <ns1:productNumber>605001</ns1:productNumber>

     <ns1:quantity>0</ns1:quantity>

     <ns1:price>0</ns1:price>

     <ns1:comment>Insufficient stock</ns1:comment>

    </ns1:Item>

    <ns2:Item xmlns:ns2="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">



     <ns2:productNumber>605002</ns2:productNumber>

     <ns2:quantity>1</ns2:quantity>

     <ns2:price>1499.99</ns2:price>

     <ns2:comment>in stock from Warehouse A</ns2:comment>

    </ns2:Item>

   </return>

  </submitOrderResponse>

 </soapenv:Body>

</soapenv:Envelope>




0










_1197895425/RequestTC2alogNokia.txt
<S:Envelope xmlns:S="http://schemas.xmlsoap.org/soap/envelope/">

<S:Body><m:getEventsRequestElement xmlns:m="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/LoggingFacility.xsd">

<m:DemoUserID>NokiaConformance</m:DemoUserID>

</m:getEventsRequestElement>

</S:Body>

</S:Envelope>


_1197894194/Request_tc4a_nokia.txt
POST http://ws-i.oracle.com/ws-i/supplychain/services/Retailer HTTP/1.1

Host: ws-i.oracle.com

Accept: text/xml

User-Agent: Sen

Content-Length: 2566

Content-Type: text/xml; charset=UTF-8

SOAPAction: ""



<S:Envelope xmlns:S="http://schemas.xmlsoap.org/soap/envelope/">

	<S:Header>

		<ns0:Configuration xmlns:ns0="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/Configuration.xsd">

			<ns0:UserId>NokiaTestCaseNo.4A</ns0:UserId>

			<ns0:ServiceUrl Role="LoggingFacility">http://ws-i.oracle.com/ws-i/supplychain/services/LoggingFacility</ns0:ServiceUrl>

			<ns0:ServiceUrl Role="Retailer">http://ws-i.oracle.com/ws-i/supplychain/services/Retailer</ns0:ServiceUrl>

			<ns0:ServiceUrl Role="WarehouseA">http://ws-i.oracle.com/ws-i/supplychain/services/WarehouseA</ns0:ServiceUrl>

			<ns0:ServiceUrl Role="WarehouseB">http://ws-i.oracle.com/ws-i/supplychain/services/WarehouseB</ns0:ServiceUrl>

			<ns0:ServiceUrl Role="WarehouseC">http://ws-i.oracle.com/ws-i/supplychain/services/WarehouseC</ns0:ServiceUrl>

			<ns0:ServiceUrl Role="ManufacturerA">http://ws-i.oracle.com/ws-i/supplychain/services/ManufacturerA</ns0:ServiceUrl>

			<ns0:ServiceUrl Role="ManufacturerB">http://ws-i.oracle.com/ws-i/supplychain/services/ManufacturerB</ns0:ServiceUrl>

			<ns0:ServiceUrl Role="ManufacturerC">http://ws-i.oracle.com/ws-i/supplychain/services/ManufacturerC</ns0:ServiceUrl>

		</ns0:Configuration>

	</S:Header>

	<S:Body>

		<ns1:submitOrder xmlns:ns1="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/Retailer.wsdl">

			<PartsOrder>

				<Item xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">

					<productNumber>605009</productNumber>

					<quantity>1</quantity>

					<price>250</price>

				</Item>

				<Item xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">

					<productNumber>605010</productNumber>

					<quantity>1</quantity>

					<price>149</price>

				</Item>

			</PartsOrder>

			<CustomerDetails>

				<custnbr xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">NOKIATestUser</custnbr>

				<name xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Joe</name>

				<street1 xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Valimo</street1>

				<city xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Helsinki</city>

				<state xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Helsinki</state>

				<zip xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">00380</zip>

				<country xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Finland</country>

			</CustomerDetails>

		</ns1:submitOrder>

	</S:Body>

</S:Envelope>




_1197895147/RequestTC2aNokia.txt
<S:Envelope xmlns:S="http://schemas.xmlsoap.org/soap/envelope/"><S:Header><ns0:Configuration xmlns:ns0="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/Configuration.xsd"><ns0:UserId>NokiaConformance</ns0:UserId><ns0:ServiceUrl Role="LoggingFacility">http://wsi.alphaworks.ibm.com/LoggingFacility/services/LoggingFacility</ns0:ServiceUrl><ns0:ServiceUrl Role="Retailer">http://wsi.alphaworks.ibm.com/Retailer/services/Retailer</ns0:ServiceUrl><ns0:ServiceUrl Role="WarehouseA">http://wsi.alphaworks.ibm.com/Warehouse/services/Warehouse</ns0:ServiceUrl><ns0:ServiceUrl Role="WarehouseB">http://wsi.alphaworks.ibm.com/Warehouse/services/WarehouseB</ns0:ServiceUrl><ns0:ServiceUrl Role="WarehouseC">http://wsi.alphaworks.ibm.com/Warehouse/services/WarehouseC</ns0:ServiceUrl><ns0:ServiceUrl Role="ManufacturerA">http://wsi.alphaworks.ibm.com/Manufacturer/services/Manufacturer</ns0:ServiceUrl><ns0:ServiceUrl Role="ManufacturerB">http://wsi.alphaworks.ibm.com/Manufacturer/services/ManufacturerB</ns0:Servi

ceUrl><ns0:ServiceUrl Role="ManufacturerC">http://wsi.alphaworks.ibm.com/Manufacturer/services/ManufacturerC</ns0:ServiceUrl></ns0:Configuration></S:Header><S:Body><ns1:submitOrder xmlns:ns1="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/Retailer.wsdl"><PartsOrder><Item xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd"><productNumber>605001</productNumber>

<quantity>250</quantity><price>299</price></Item><Item xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd"><productNumber>605002</productNumber><quantity>1</quantity><price>1499</price></Item></PartsOrder><CustomerDetails><custnbr xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">NOKIAIOPTestUser</custnbr><name xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Joe</name><street1 xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Valimo</street1><city xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Helsinki</city><state xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Helsinki</state><zip xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">00380</zip><country xmlns="http://www.ws-i.org/SampleApplications/SupplyChainM

anagement/2002-08/RetailOrder.xsd">Finland</country></CustomerDetails></ns1:submitOrder></S:Body></S:Envelope>


_1197894268/Request_tc6a_nokia.txt
POST http://ws-i.oracle.com/ws-i/supplychain/services/Retailer HTTP/1.1

Host: ws-i.oracle.com

Accept: text/xml

User-Agent: Sen

Content-Length: 2934

Content-Type: text/xml; charset=UTF-8

SOAPAction: ""



<S:Envelope xmlns:S="http://schemas.xmlsoap.org/soap/envelope/">

	<S:Header>

		<ns0:Configuration xmlns:ns0="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/Configuration.xsd">

			<ns0:UserId>NokiaTestCase6A</ns0:UserId>

			<ns0:ServiceUrl Role="LoggingFacility">http://ws-i.oracle.com/ws-i/supplychain/services/LoggingFacility</ns0:ServiceUrl>

			<ns0:ServiceUrl Role="Retailer">http://ws-i.oracle.com/ws-i/supplychain/services/Retailer</ns0:ServiceUrl>

			<ns0:ServiceUrl Role="WarehouseA">http://ws-i.oracle.com/ws-i/supplychain/services/WarehouseA</ns0:ServiceUrl>

			<ns0:ServiceUrl Role="WarehouseB">http://ws-i.oracle.com/ws-i/supplychain/services/WarehouseB</ns0:ServiceUrl>

			<ns0:ServiceUrl Role="WarehouseC">http://ws-i.oracle.com/ws-i/supplychain/services/WarehouseC</ns0:ServiceUrl>

			<ns0:ServiceUrl Role="ManufacturerA">http://ws-i.oracle.com/ws-i/supplychain/services/ManufacturerA</ns0:ServiceUrl>

			<ns0:ServiceUrl Role="ManufacturerB">http://ws-i.oracle.com/ws-i/supplychain/services/ManufacturerB</ns0:ServiceUrl>

			<ns0:ServiceUrl Role="ManufacturerC">http://ws-i.oracle.com/ws-i/supplychain/services/ManufacturerC</ns0:ServiceUrl>

		</ns0:Configuration>

	</S:Header>

	<S:Body>

		<ns1:submitOrder xmlns:ns1="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/Retailer.wsdl">

			<PartsOrder>

				<Item xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">

					<productNumber>605001</productNumber>

					<quantity>41</quantity>

					<price>299</price>

				</Item>

				<Item xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">

					<productNumber>605002</productNumber>

					<quantity>21</quantity>

					<price>1499</price>

				</Item>

				<Item xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">

					<productNumber>605004</productNumber>

					<quantity>46</quantity>

					<price>199</price>

				</Item>

				<Item xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">

					<productNumber>605007</productNumber>

					<quantity>41</quantity>

					<price>100</price>

				</Item>

			</PartsOrder>

			<CustomerDetails>

				<custnbr xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">NOKIATestUser</custnbr>

				<name xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Joe</name>

				<street1 xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Valimo</street1>

				<city xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Helsinki</city>

				<state xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Helsinki</state>

				<zip xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">00380</zip>

				<country xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Finland</country>

			</CustomerDetails>

		</ns1:submitOrder>

	</S:Body>

</S:Envelope>






_1197894162/Request_tc4alog_nokia.txt
POST http://ws-i.oracle.com/ws-i/supplychain/services/LoggingFacility HTTP/1.1

Host: ws-i.oracle.com

Accept: text/xml

User-Agent: Sen

Content-Length: 295

Content-Type: text/xml; charset=UTF-8

SOAPAction: ""



<S:Envelope xmlns:S="http://schemas.xmlsoap.org/soap/envelope/">

	<S:Body>

		<m:getEventsRequestElement xmlns:m="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/LoggingFacility.xsd">

			<m:DemoUserID>NokiaTestCaseNo.4A</m:DemoUserID>

		</m:getEventsRequestElement>

	</S:Body>

</S:Envelope>








_1181462296/Requesttc1alog_nokia.txt
POST http://ws-i.oracle.com/ws-i/supplychain/services/LoggingFacility HTTP/1.1

Host: ws-i.oracle.com

Accept: text/xml

User-Agent: Sen

Content-Length: 295

Content-Type: text/xml; charset=UTF-8

SOAPAction: ""



<S:Envelope xmlns:S="http://schemas.xmlsoap.org/soap/envelope/">

	<S:Body>

		<m:getEventsRequestElement xmlns:m="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/LoggingFacility.xsd">

			<m:DemoUserID>NokiaTestCaseNo.1A</m:DemoUserID>

		</m:getEventsRequestElement>

	</S:Body>

</S:Envelope>




_1181462733/Response_tc4a_nokia.txt

_1181462968/Response_tc6a_nokia.txt

_1181463038/Request_tc6alog_nokia.txt
POST http://ws-i.oracle.com/ws-i/supplychain/services/LoggingFacility HTTP/1.1

Host: ws-i.oracle.com

Accept: text/xml

User-Agent: Sen

Content-Length: 292

Content-Type: text/xml; charset=UTF-8

SOAPAction: ""



<S:Envelope xmlns:S="http://schemas.xmlsoap.org/soap/envelope/">

	<S:Body>

		<m:getEventsRequestElement xmlns:m="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/LoggingFacility.xsd">

			<m:DemoUserID>NokiaTestCase6A</m:DemoUserID>

		</m:getEventsRequestElement>

	</S:Body>

</S:Envelope>








_1181463129/Response_tc6alog_nokia.txt

_1181462848/Response_tc4a_nokia.txt

_1181462508/Requesttc3alog_nokia.txt
POST http://ws-i.oracle.com/ws-i/supplychain/services/LoggingFacility HTTP/1.1

Host: ws-i.oracle.com

Accept: text/xml

User-Agent: Sen

Content-Length: 292

Content-Type: text/xml; charset=UTF-8

SOAPAction: ""



<S:Envelope xmlns:S="http://schemas.xmlsoap.org/soap/envelope/">

	<S:Body>

		<m:getEventsRequestElement xmlns:m="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/LoggingFacility.xsd">

			<m:DemoUserID>NokiaTestCase3A</m:DemoUserID>

		</m:getEventsRequestElement>

	</S:Body>

</S:Envelope>






_1181462610/Response_tc3alog_nokia.txt

_1181462487/Response_tc3a_nokia.txt

_1181462144/Request_tc1a_nokia.txt
POST http://ws-i.oracle.com/ws-i/supplychain/services/Retailer HTTP/1.1

Host: ws-i.oracle.com

Accept: text/xml

User-Agent: Sen

Content-Length: 2385

Content-Type: text/xml; charset=UTF-8

SOAPAction: ""



<S:Envelope xmlns:S="http://schemas.xmlsoap.org/soap/envelope/">

	<S:Header>

		<ns0:Configuration xmlns:ns0="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/Configuration.xsd">

			<ns0:UserId>NokiaTestCaseNo.1A</ns0:UserId>

			<ns0:ServiceUrl Role="LoggingFacility">http://ws-i.oracle.com/ws-i/supplychain/services/LoggingFacility</ns0:ServiceUrl>

			<ns0:ServiceUrl Role="Retailer">http://ws-i.oracle.com/ws-i/supplychain/services/Retailer</ns0:ServiceUrl>

			<ns0:ServiceUrl Role="WarehouseA">http://ws-i.oracle.com/ws-i/supplychain/services/WarehouseA</ns0:ServiceUrl>

			<ns0:ServiceUrl Role="WarehouseB">http://ws-i.oracle.com/ws-i/supplychain/services/WarehouseB</ns0:ServiceUrl>

			<ns0:ServiceUrl Role="WarehouseC">http://ws-i.oracle.com/ws-i/supplychain/services/WarehouseC</ns0:ServiceUrl>

			<ns0:ServiceUrl Role="ManufacturerA">http://ws-i.oracle.com/ws-i/supplychain/services/ManufacturerA</ns0:ServiceUrl>

			<ns0:ServiceUrl Role="ManufacturerB">http://ws-i.oracle.com/ws-i/supplychain/services/ManufacturerB</ns0:ServiceUrl>

			<ns0:ServiceUrl Role="ManufacturerC">http://ws-i.oracle.com/ws-i/supplychain/services/ManufacturerC</ns0:ServiceUrl>

		</ns0:Configuration>

	</S:Header>

	<S:Body>

		<ns1:submitOrder xmlns:ns1="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/Retailer.wsdl">

			<PartsOrder>

				<Item xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">

					<productNumber>605001</productNumber>

					<quantity>250</quantity>

					<price>299</price>

				</Item>

			</PartsOrder>

			<CustomerDetails>

				<custnbr xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">NOKIATestUser</custnbr>

				<name xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Joe</name>

				<street1 xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Valimo</street1>

				<city xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Helsinki</city>

				<state xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Helsinki</state>

				<zip xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">00380</zip>

				<country xmlns="http://www.ws-i.org/SampleApplications/SupplyChainManagement/2002-08/RetailOrder.xsd">Finland</country>

			</CustomerDetails>

		</ns1:submitOrder>

	</S:Body>

</S:Envelope>










_1181462295/Response_tc1alog_nokia.txt

_1181462143/Response_tc1a_nokia.txt

_935227290.doc



